Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

CJ2Z series

210, 216

B cJ2zB
With auto swith| codzz

With auto switch (Built-in magnet)

How to Order

ik

Z-

.

s
>

¥

o
G
pry

(x]
C—
-}

Z-

éﬂ

H <)

0 Mounting 9 Bore size e Cylinder standard stroke [mm]
B Basic [10] 10 mm | Refer to “Standard Strokes” on page 108. CM3
E Double-side bossed [16] 16 mm |
D Double clevis CG1
L Single foot 0 Head cover port location 6 Pivot bracket 6 Rod end bracket
M Double foot Perpendicular to Nil None Nil None CG3
F Rod flange Nil P axis § > N | Pivotbracket is shipped v Single knuckle joint
G Head flange - together with the product. Wik Double knuckle joint

+: Foot/Flange brackets are shipped = Only for the double clevis type T Rod end cap (Flat type)
together with the product, but not R Axial § A +: Pivot bracket is shipped U Rod end cap (Round type)
assembled. . together with the product, but +: Rod end bracket is shipped together

#: For double clevis, the product is
perpendicular to the cylinder axis.
#: For double-side bossed, the

not assembled.

with the product, but not assembled.
= Refer to page 63 for the double knuckle
joint (with one-touch connecting pin).

MB1

HOE

roduct is perpendicular to the
0 Auto switch gylinder ax’i)s. " 9 Auto switch mounting type @ Made to Order CAZ
[ Nil | Without auto switch | . [A] Rail mounting | Refer to page 108 for details.
«: For applicable auto switches, 9 .Number of auto switches [B] Band mounting | CS1
refer to the table below. Nil 2 pes. «: For rail mounting, screws and
* Enter the auto switch mounting type (A or B) S . 1” pC. nuts for 2 auto switches come cS2
even when a built-in magnet cylinder without n n” pes. with the rail.
an auto switch is required. = Refer to page 148 for auto
switch mounting brackets.
= Refer to “Ordering Example of Cylinder Assembly” on page 108.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
ol y I Ezm Wiring Load voltage _ Au:o switch r;oc:el - Lead wire length [m] Presited Aoaticable load
ype| Special function 2 an mounting a| mounting 05| 1| 3| 5 [None| pplicable loa
Gy ||| (e pe AC In-line_|J In-line_| (Nil) | (V)| L) | @) [y | ™"
3-wire (NPN) 5V 12V M9NV MON | MONV | M9N ® /0 O —| O (C circut
£ - Grommet 3-wire (PNP) ! M9PV M9P M9PV M9P ® /0 O|—| O
'§ 2.wire 12V M9BV | M9B | M9BV | M9B ® /0 O/ —| O _
13 Connector — H7C J79C — o —|0o 0 0o —
g ) _ 3-wire (NPN) 5V.12V MONWV| MONW MONWV| MONW @ @ (@ O |—| O (G circuit | Rel
& |Diagnostic Ves|3ire (PNP) |24 V|° " — [MoPWV| M9PW [MOPWV| M9PW | @ (@ |@ | O|—| O | o] Relay,
@ | (2-color indicator) - PLC
& 2-wire 12V M9BWV| M9BW M9BWV| M9BW @ @ | @ O |—| O —
_g Water resistant Grommet| | 3-wire (NPN) 5V 12V M9NAV*!| MONA*! |[MINAV*![MONA*'| O |O |@|O|—| O (G circuit
5 (2-color indicator) 3-wire (PNP) ! MYPAV*!| MOPA*' | MIPAV*'|M9PA*'| O |O | @ |O|—| O
@ 2-wire 12V M9BAV*'| MOBA*! MIBAV*'|M9BA*'| O |O | @ |O|—| O —
4-wire (NPN) 5V,12V — H7NF — F79F | @ |—| @ | O |—| O |ICgcircuit
5 (Npﬁ'em;jem) | sv | — | moev | Ass | Assv | A% | @ |—|@|—|—| — [iComut| —
= Grommet | — [200v [ — — A72 | A72H | @ [—|@|—[— _
o —_— [ | 100V | A93V*2| A93 | A93V*2| A93 ® 0 0o 0 —
‘é No 2-wire 12V 100Vorless| A90V A90 A90V A90 ® |—|®|—|—| — |[ICcircuit| Relay,
2 Comector & 24V — — C73C | A73C = o —o 06 0 — — PLC
2 o 24Vorless] — C80C | A80C — ® —|® @ @& — |(Ccircu
Dianosic nicaon (2o indezior) | Grommet | Yess — — — — A79W — e — e — | —| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93. D'I:l
: Lead wire length symbols: 0.5 m-. - Nil (Example) MONW - Z (Example) MONWZ
1m- M (Example) MONWM - N (Example) H7CN 'XD
3m- - L (Example) MONWL
*: Since there are other applicable auto syw}ches than listed, refer to page 149 for details. Technical
olid state auto switches marked with “O” are produced upon receipt of order. lala

*: The D-A90/M9LI/A7CI/AB0LI/F701/J700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

107 ®



CJ2Z series

Space-saving air cylinder with
speed controller built-in cylinder
cover

Symbol
Double acting, Single rod, Rubber bumper

O

Made 10 - __—
‘Order | Made to Order: Individual Specifications
(For details, refer to page 150.)

Specifications
Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
operating pressure 0.7 MPa
operating pressure 0.06 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°G (N freezing)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 30

Speed controller Built-in

Piston speed

50 to 750 mm/s

Allowable kinetic energy 0.035J 0.090J
Standard Strokes
————————
[mm]
Bore size Standard stroke Maximum stroke
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

+: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

5

: Applicable strokes should be confirmed according to the usage. For details, refer to “Air

— linders Model Selection” on front matter pages. In addition, the products that exceed the
‘ Symbol ‘ Specifications ‘ Cy! N " I N
X446 ‘ PTFE grease ‘ standard stroke might not be able to fulfill the specifications due to the deflection etc.
Made to Order
Click here for details . .
Seh TS Mounting and ACCeSSOries g ixteistasesaiap i s s
-XA[C] | Change of rod end shape @---Mounted on the product. O---Can be ordered within the cylinder model. A---Order separately.
-XC51 | With hose nipple Double | Double dlevis
-XC85 | Grease for food processing equipment Mounting Basic Foot Flange clevis | ficuding Tocke)
- g |Mounting nut [ ] [ ] [ ] — —
A Precautions £ [Rod end nut ° ° ° ° °
& | Clevis pin (including retaining rings) — — — [ ] [ ]
pEEmEmEmmm—_mm—_—mEmmEmEmEA Single knuckle joint @) @) @) @) @)
L Refer to page 152 before handling. .: H Double knuckle joint (including a pin and retaining rings) ] @] @] o O
sEEEEEEEEEEEEEE %5 | Double knuckle joint (With one-fouch connecting pin) A A A A O
O [Rod end cap (Flat/Round type) @] @] @] ] ]
Ordering Example of Cylinder Assembly Pivot bracket (T-bracket) — — — o L]
+: Stainless steel mounting brackets and accessories are also available.
Refer to page 63-1 for details.
Cylinder model: CDJ2ZD16-60Z-NW-M9BW-B
Double clevis .
Mountlng Brackets/Part No.
< Bore size [mm]
Mounting bracket
") 10 16
3 Foot CJ-Lo10C CJ-L016C
-/ Flange CJ-Fo10C CJ-F016C
Pivot bracket (T-bracket)*’ CJ-To10C CJ-T016C
Pivot bracket

Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

© 108

#1: The pivot bracket (T-bracket) is used with double clevis (D).

Refer to pages 142 to 149 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height

* Minimum stroke for auto switch mounting
* Operating range

* Auto switch mounting brackets/Part no.



http://www.smcworld.com/products/en/custom.do

Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Weights
——
lal
Bore size [mm] 10 16
Basi iah Basic 36 61
(Vzilznvﬁlg s:roke Axial piping. - " — 36 61
is zero) Double.clews (including clevis pin) 40 68
Head-side bossed 37 63
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint
(including knuokle pin) 25 21
. Double knuckle joint

Accessories (With one-touchjconnecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
Pivot bracket (T-bracket) 32 50

#: Mounting nut and rod end nut are included in the basic weight.

#: Mounting nut is not included in the basic weight for the double clevis.

Calculation:
Example) CJ2ZL10-45Z
® Basic weight -

® Additional weight

® Cylinder stroke -

® Mounting bracket weight --- 8 (Single foot)

36 +4/15x 45 +

8=569

Construction (Not able to disassemble)

\

pawa

i

@

CJ2Z series

%M%Am

&

Component Parts

With auto switch

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 12 | Rod end nut Rolled steel

2 | Head cover Aluminum alloy 13 | Piston seal NBR

3 | Cylinder tube Stainless steel 14 | Rod seal NBR

4 | Piston rod Stainless steel 15 | Check seal A NBR

5 | Piston A Aluminum alloy 16 | Check seal B NBR

6 | Piston B Aluminum alloy 17 | Tube gasket NBR

7 | Piston Aluminum alloy 18 | Needle seal NBR

8 | Bumper A Urethane 19 | Wear ring Resin

9 | Bumper B Urethane 20 | Check seal sleeve Aluminum alloy
10 | Speed controller needle Carbon steel 21 | Retaining ring Carbon tool steel
11 | Mounting nut Rolled steel 22 | Magnet —

[x NN x]
€= || C=
0 || =

ool
DIDIN=S(=|Q
W= || D|N|=

QIO |=
DRI 2|
N || = ([N ||



CJ2Z series

Basic (B)
CcJ2zB }g - ‘Stroke‘ ‘Head cover port Iocation‘ 4

] I ] I
=7, S é A\
= S < s
\
WA WB
¥ Mounting nut
Section Y detail
Rod end nut
wy. NN GA " piping port 2 x M5 x 0.8 GB Piping port M5 x 0.8
& MM &)
Q a [
. > SO [T e | [efl] . [
A o A ]
o o
§ — v Pl
B3, N o | ;
A F|_NA NB BJs lead cover port location
T H S + Stroke Axial location (R)
= The overall cylinder
Z + Stroke length does not change.
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore size A B [ D F |[GA|GB| H MM NA | NB NDh8 NN WA |WB |WW| S Y4
10 15 |15 | 17 | 4 8 | 75|65| 28 | Max07 | 21 | 18 85022 M8x1.0 |14.4|135| 45 | 63 | 91
16 15 |183| 20 | 5 8 |75|65| 28 | M5x0.8 | 21 | 18 1050 | M10Xx1.0 [14.4 (135 45 | 64 | 92
Double-side Bossed (E)
10
CJ2ZE 1¢ - z
] | S é N
=< =G
| 45 < [& 1
Section Y detail WA wB
Rod end nut Y ¥ Mounting nut vy ) ]
Wy, NN\ GA Piping port 2 x M5 x 0.8 GB @ Section YY detail
e ~ NN ©
% MM =
a e =
o % °, N ie | [& 1], I
o & =1l
=l \§ [
B3s A_| |F|_NA NB
H S + Stroke F
Z + Stroke
¥ For details of the mounting nut, refer to page 63.
[mm]
Bore size A B C D F |GA|GB| H MM NA | NB NDh8 NN WA |WB |WW| s Z
10 15 |15 17 4 8 75 | 65 | 28 M4 x 0.7 21 18 80022 M8x1.0 | 144|135 45 63 99
16 15 [ 18.3| 20 5 8 75 | 65 | 28 M5 x 0.8 21 18 103020 M10x 1.0 | 14.4 | 135 | 45 64 | 100

110



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJZZ Series

Double Clevis (D)

CJ2zD ]2 - [Stroke|z

] 1
o —| ci1
I~
[ [ 45
Rod end nut M rzCDHQ*g 030 CJP
NB Clevis pin (9Cdd933%) m
GA  Piping port 2 x M5 x 0.8 GB
MM
o |- L & JCMm
3 | Gl 3
a = N
@ \ \ I [ N 5} [om2
LA NA . CM3
H S + Stroke 1) (283
Z + Stroke R CZ35s CG1
ZZ + Stroke

=1 A clevis pin and retaining rings are included.

[mm]
Bore size A | B |C|CD|CX|CZ| D |GA|GB| H MM NA/NB| R | U WA/WB/WW| S | Z |2ZZ
10 15 |15 17 | 33| 82 |15 4 75 |19.5| 28 M4 x 0.7 21 31 5 8 |14.4|26.5| 45 63 99 | 104
16 15 |183| 20 | 5 6.5 | 183| 5 75 |245| 28 M5x0.8 | 21 36 8 10 | 14.4|315| 45 | 64 | 102 | 110
Single Foot (L)
CJ2zL }g - ‘Stroke‘ ‘Head cover port Iocation‘ 4
] | § é ] I
ﬁ l o] ]
I~
g Rk { .
Rod end nut M» <W_B>
¥+ Mounting nut
Cover surface MM NN F.GA Piping port 2 x M5 x 0.8 GB \N\ND Piping port M5 x 0.8
‘ o ¢
= el [eiii] b 7 )
O S {0
- Y o
& 3[-‘ ‘H \ \ \ \ v \
0
[ B0z _| Head cover port location
LX A Axial location (R)
LZ ~~T #: The overall cylinder length
X Y NA NB does not change.
H S + Stroke
Z + Stroke
2xoLC

¥ For details of the mounting nut, refer to page 63.

Boresize | A|B|C|D|F|GAGB| H |[LB|LC|LH|LT |LX|LY|LZ] MM |[NA/NB| NN WAWBWW| S X |Y | Z

QIO |=
DRI >|wm
N || = ([N || =

10 15|15 |17 | 4 | 8 |75|65|28 |15 |45| 9 16|24 |165|32 | M4x0.7 |21 | 18 | M8x 1.0 |144|135/45|63| 5 | 7 | 91

16 15(183|/ 20| 5 | 8 |75|6.5]|28 |23 |55|14 |2.3|33 |25 |42 |M5x0.8 |21 | 18 |MI0x 1.0 |144|135)/ 45|64 | 6 | 9 | 92




CJ2Z series

Double Foot (M)

cJ2zM ]2 - [stroke| Z

] | ] [
I~
[ | 45 I |
WA WB
Rod end nut e——>s ¥ Mounting nut
G ¥ Mounting nut
F GA o
Covrsutass Piping port 2 x M5 x 0.8 GBF / NN o
< | g
<
R [Tie | | o B
fAis] A B
o
H— — Z
- - B.0s
| |
Y NA NB |Y X
H S + Stroke
4xoLC LS + Stroke
Mounting hole Z + Stroke
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize |A|B|C|D H |[LB|LC|LH|LS|LT|LX|LY|LZ NN WAWBWW| S [ X |Y|Z
10 1515 |17 | 4 28 |15|45| 9|77 |1.6]|24 [165| 32 |[M4x0.7 M8 x 1.0|14.4|135| 45|63 | 5 | 7 103
16 15]183]/20| 5 28 |23 55|14 |82 |2.3|33 (25 |42 |[M5x0.8 M10x 1.0|14.4|135(45 |64 | 6 | 9 |[107
Rod Flange (F)
———
CJ2ZF }g - ‘Stroke‘ ‘Head cover port Iocation‘ V4
| g [
= e
I~
| |
¥ Mounting nut
Rod end nut <W_B>
; GB A
Cover surface MM Piping port 2 x M5 x 0.8 ™ \N( o Piping port M5 x 0.8
)
L | 2 of R S
() az /< 5 ?{g
o
& \ \ o
]
2x0oFC NA B-os | Head cover port location
FX Mounting hole Axial location (R)
S + Stroke R
FZ «: The overall cylinder length
Z + Stroke does not change.
¥ For details of the mounting nut, refer to page 63. fmm]
Boresize | A| B | C FC | FT |FX |FY |FZ |GA|GB| H NB| NN |WAWBWW| S | Z
10 15 |15 17 45116 |24 |14 | 32 |75|65 | 28 18 | M8x 1.0 |14.4|135| 45 | 63 | 91
16 15 | 18.3| 20 55|283|33 |20 |42 |75|65]| 28 18 |M10x 1.0 |14.4|135| 45 | 64 | 92

112



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJZZ Series

Head Flange (G)

CJ22G 12 - [stroke| Z

o
G
pry

3
k.2 { \

(x]
C—
-}

H
>
=
@

Rod end nut ¢+ Mounting nut

[
()
=

%

oD

FB
FY
o
=
)

y==|

] =
a) 18 |

Wy, NN S8 Piping port2 x M5 x 0.8 GB NN Cover surface
% ? MM I S
RN £l
3 7
T

B, A F|._NA NB |FT FX CG1
H S + Stroke F FZ 2xeoFC
Z + Stroke Mounting hole css
¥ For details of the mounting nut, refer to page 63. fmm]
Bore size A|B|C|D|F |FB|FC|FT | FX|FY|FZ|GA|GB| H MM | NA |NB NN |WA/WBWW| S | Z
10 15 |15 17 | 4 8 |13 |45|16 |24 |14 |32 |75|65| 28 | M4x07 |21 | 18 | M8x 1.0 [14.4(135| 45 | 63 | 99
16 15 [183| 20 | 5 8 |19 55|23 |33 |20 |42 |75|65|28 | M5x0.8 | 21 | 18 |M10x1.0|14.4(13.5| 45 | 64 | 100 B

(5]
n
N



CJ2 Series

Dimensions of Accessories (options)

Single Knuckle Joint et roted steel

Double Knuckle Joint wateria: Rolied steel

Knuckle Pin

Material: Stainless steel

#1 A knuckle pin and retaining rings are included.

Double Knuckle Joint (With One-touch Connecting Pin)

@NDH10 MM L oND hole H10 MM
A CJ1
BR
RR; L A g
T il S
Ui'82 LA Ui'8? A
i A=k o
[mm] [mm] [mm] JCM
‘Applicable
Aoplcable Partno. |‘deSee| At | L | Li | MM Aoplcable Incued
Part no.[# % A+| Ls | MM [NDH10NX| R: | Us voor0e 30T 8 Ti52l 21 Twaron Partno.{f G| Dd9 | d | L |Li|m| t | G0 |:CM2
1-J010C| 10 | 8 |21|M4x07(3.3%°|3.1| 8 | 9 Y-J016C 16 11 [16.6| 21 | M5x0.8 CD-J010| 10 [3.33%| 3 |152[122|1.2]0.3 TypeC32
1-J016C| 16 | 8 |25|M5x08| 5% |6.4| 12|14 Partno. | NDd9 [NDH10] NX | R: | U, 1Y-J015| 16 | 5350 |4.8]166]122[15(07| TeC5 |GV
Y-J010C |3.3295%)3.3°3%¢| 32 | 8 10 #: For 910, a clevis pin is diverted.
Y-J016C | 509 | 5°% | g5 | 12 | 10 = Retaining rings are included with a knuckle pin. CG1
a '—0.060 0 -

One-touch Connecting Pin for Double Knuckle Joint wateriar: staintess steel

e = L=
==
23 MM a &
o g - oDd9 10
- \:\,_ = 15 20.5
NX22 : 24
14.6 urs?
7 L+ /A
N
[mm] [mm]
Part no. /PP A | |, | MM | NDd9 | NDH10 |NX|Ri | Ui Part no. | APPlicable| g
*| bore size “| bore size
Y-J10| 10 | 8|21 |max07] 33388 | 339 [32] 8] 10 Iv-J10 | 10 3.3:9%
Y-J16| 16 | 11|21 |M5x08| 5358 | 59°° [65]12] 10 Iv-J16 | 16 5-00%0

Material: Carbon steel

Mounting Nut

Rod End Nut

Material: Carbon steel

[mm] [mm]
Part no. %%E'ew;?‘ee B1 | Ci d H1 Part no. mc;gf B2 | C2 d Hz
SNJ-006C 6 8 | 9.2 | M6x1.0 | 4 NTJ-006B 6 55| 6.4 |[M3x0.5| 2.4
SNJ-010C| 10 11 |12.7| M8x1.0 | 4 NTJ-010C | 10 7 | 81|M4x0.7| 3.2
SNJ-016C| 16 14 |16.2| MI0x1.0 | 4 NTJ-015C | 16 8 |92 |M5x0.8| 4
SNKJ-016C*| 16 | 17 [19.6] M12x10 | 4

«: For @16 non-rotating type. (Use SNJ-016C for
210 non-rotating type.)

MB1

CA2

ST CS1
) €S2
D-O0

-XO



CJ2 Series

Pivot Bracket (T-bracket)

(S+Stroke) _ (U)  TDH10 o
R — 452
PR 2
g S
N | f
12 4x0TC E
N
-
-
TY =
™

[mm]

Part no.

Applicable
bore size | TC| TPH10|TH TKITN|TT TU(TVTW|TX|TY|TZ

CJ-TO10C| 10 [4.5|3.3'9°° |29|18(3.1| 2| 9 |40|22|32|12| 8

CJ-TO16C| 16 |55| 59%° |35|20|6.4|2.3|14|48|28|38|16|10

=2 A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring

washer.

«: For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 60.

One-touch Connecting Pin for Double Clevis wateriar: staintess steel

_Jwl
oDd9 | Wi
H W2
Applicable

Partno. |/ 76 Dd9 H L w
CD-J10 10 3.335%0 | 184 | 132 4
CD-J16 16 BEoean 18.2 19.5 5
Partno. | W1 | W2 Note
CD-J10 | 12 | 15 | Cannot be mounted on cylinders with air

CD-J16 | 15

18 | cushion, or rail mounting type auto switches.

#: Please pay attention to the applicable cylinder.

Rod End Cap

Flat type/CJ-CFOOO

Clevis Pin

Material: Stainless steel

mt

@Ddg

fmm

Part no. | pgg

bore size

d|L|L

m

-

Included

refaining fing

CD-J010| 10 |33

0030
0060

3 [162]122

12

0.3| Type €32

CD-2015| 16 | 536%

4.8(227|183

15

0.7 TypeC5

CD-JA10¥| 10 |33

0030
0,080

3 |182]152

12

0.3| Type €32

#: For @10 double clevis type, with air cushion
and built-in speed controller.
= Retaining rings are included with a clevis pin.

Material: Polyacetal

Round type/CJ-CROOIO

A . MM
i
Jmm— =
e
@ 1
7 N
O L
Part no. Applicable
Flat type |Round type | boresize AD|L I el
CJ-CF006 | CJ-CR006 6 6|8 |11 M3x05 |5 |8 |6
CJ-CF010 | CJ-CR010 10 8 10| 13| M4x0.7 | 6 10| 8
CJ-CF016 | CJ-CRO16 | 16 10|12 |15| M5x0.8 | 7 | 12|10

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double q
[mm] Foot Flange knuckle joint |knuckle joint* Mounting nut | Rod end nut
10 — — 1-J010SUS | Y-JO10SUS — NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS | 1-J016SUS Y-JO16SUS | SNJ-016SUS | NTJ-015SUS

= A knuckle pin and retaining rings are shipped together.

® 63-1



Dimensions of Accessories (Options) CJ2 Series

Precautions \

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J) 2. Double Knuckle Joint (With One-touch Connecting Pin) (IY-JO)

Insert connecting pin through One-touch connecting pin Insert the connecting pin

- ! into the joint.
the cylinder and pivot bracket. = o CJ-'
2O A
. ) ! A -
CJ2 Air cylinder (Clevis type) Y Double knuckle joint / CJ2 Air cylinder

@
N
\ -~
Pivot bracket (T-bracket) &

| One-touch connecting pin <§\,

p {‘ | 1 9 Rotate the connecting pin.
e 1
y 1

€
S e
= o

e Rotate the connecting pin. o
<
2 4 cM2
‘v @
\ -~
< - cM3
9 Assembly completed without tools. s o
:) ? 9 Assembly completed without tools. - CG1
. p. o
YA /7 1 CG3
rras

NG
# The above mounting instructions are for downward-facing\“
ports. Refer to the following for upward-facing ports.

—
=
™

How to Mount the Double Clevis (With One-touch Connecting Pin)

When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder MB1
be connected with the one-touch connecting pin first, before fastening the pivot bracket.
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure. CA2

AWarning AWarning 81

For assembling the clevis type to the pivot bracket, + Perform the mounting within the following range. CSZ
refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)
from the direction in the figure.

(%]

R

When port is facing upward ‘

Pivot bracket (T-bracket)

2. Push the one-touch connecting pin into the cylinder body
(Double clevis) until it clicks and is firmly fastened.

Double clevis
(With one-touch
connecting pin)

-XO

Technical
= Attach the double knuckle joint within 180° (+90° from center). Other mounting methods are the same as the above. Data
63-2 ®




CJ2 Series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9O
D-M9OW
D-M9OA
Auto switch
ol e

== i

A 22 l B

A =
(24)

( ): Dimension of the D-M9JA.

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9IV
D-M9CIMV
D-M9IAV
Auto switch
NI o
e
allal L

(22)
( ): Dimension of the D-M9JAV.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

Auto switch
| !
[ [Ep— ]
I — |
S T
A B
Al >l

142

Reed auto switch
<Band mounting>

D-A90

Auto switch

! . pan !

[i==

S P
allas] s

(22

( ): Dimension of the D-A96.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9CIV

Auto switch
o .
== S
sl Ll

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C
_Hs @ Auto switch
I
SaRtyl == ==
AllL LB




Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>
D-M9C]
D-M9CIW

Auto switch
.

D-M901V
D-M9COWV
D-M9CIAV

=

235 || B
(25.5)

( ): Dimension of the D-M9CJIA.

Auto switch
|

=

EbJ 215|| B

(23.5)
( ): Dimension of the D-M9JAV.

D-F70/J79
D-F7O0W/J79W
D-F79F/F7BA Auto switch
"tt"“‘t’l% ﬁd
A»E B
D-F70OV/F7TOOWV
D-F7BAV
D-J79C Auto switch
® e
A .B

<Rail mounting>

D-A90]
Auto switch cJ"
CJP
(23.5) m
( ): Dimension of the D-A96. JCM
D-A9CIV |:
cM2
Auto switch CM3
7! 5 61
235 || B |:
‘ CG3
JMB
D-A7C1/A80
D-A73C/A80C
D-A79W Auto switch B

=Iﬁ %ﬁ?ﬁ
AllL 1B

€S2
D-A7CIH/A80H
Auto switch
wﬁ% X @
A.L ;fﬁ
DO
-XO



CJ2 Sseries

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Single acting type excluded) [mm

Auto switch Band mounting
model D-M9Cl DHTD
D-M9OV D-H7C D-C70
D-M9OW D-A90] D-H7NF D-C80
D-M9OWV D-A90V D-H7OW D-C73C
D-M9CIA D-H7BA D-C80C
D-M9TIAV
Bore size A B A B A B A B
6 5.5(4.5) | 5.5(4.5) | 1.5(0.5) | 1.5(0.5) 1 1 2 2
[12] [4] (8] [0] (7.5) (0) (8.5) (0.5)
10 (5) 6 (5) 6 (1)2 (1)2 1.5 1.5 2.5 25
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)25 2 2 3 3
#: The values in () are measured from the end of the auto switch mounting bracket.
«: The values in [ ] for bore size @6 are for the double rod type (CJ2W series).
[mm]
Auto switch Rail mounting
model D-F70/J79
D-F7O0WN79W
gl D-F7OV/F7OWV
Doy D-F79F
D-M9OW D-A90 D-A70]
D-MOCIWV D-A9CIV D-J79C D-F7NT D-A80 D-A79W
D-F7BA
Dy oL D-F7BAV
D-M9CJAV %
D-A700H/A80H
D-A73C/A80C
Bore size A B A B A B A B A B A B
6 — — — — — — — — — — — —
10 4.5 4.5 0.5 0.5 3.5 3.5 8.5 8.5 3 3 0.5 0.5
16 5 5 1 1 4 4 9 9 3.5 3.5 1 1
= Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height [mm]
Auto switch Band mounting
model
D-M9O D-M9OIV D-H7O/MH70W
D-M9OW D-M9OWV D-H7NF D-H7C D-C73C
D-M9TIA D-M9TIAV D-H7BA D-C80C
D-A90 D-A90V D-C701/C80
Bore size Hs Hs Hs Hs Hs
6 15 16 15 18 175
10 17 18 17 20 19.5
16 20.5 21 20.5 23.5 23
[mm]
Auto switch Rail mounting
model
D-M9O
W | DF7ow79
D-F7O0W/J79W D-F70V
DMWY | p.F7BA/F79F D-F7O0WV D-J79C Dia7H DiAz3q) D-A79W
D-M9OA D-F7NT D-F7BAV D-A80 D-A80C
D-MIDAV | b p70H/ABOH ’
D-A90 :
D-A90V
Bore size Hs Hs Hs Hs Hs Hs Hs
6 — — — — — — —
10 17.5 17.5 20 23 16.5 23.5 19
16 21 20.5 23 26 19.5 26.5 22

144



Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/SingIe Acting, Spring_; Return Type (S)

Auto Switch Proper Mounting Position: Spring Return Type (S)
- Standard Type (CDJ20O00-(1SZ)
- Non-rotating Rod Type (CDJ2KOOO-0SZ)
- Direct Mount Type (CDJ2ROOO-1SZ)
- Direct Mount, Non-rotating Rod Type (CDJ2RKOOOI-[ISZ)

[mm]
ANeTael
Auto switch model BF”E dimensions B
size | 5t09st | 10t015st | 161030 st | 311045t | 461060 st | 6110 75 st | 76 to 100 st[ 101 to 125 st | 126 to 150 st
D-M9C) 6 — 12 21 25 39 — — — — 55
D-M9OIW/M9CIWV 10 — 13 20.5 325 44.5 — — — — 6
D-MOTIA/MOTIAV 16 — 12,5 21 33 45 51 75 93 105 6.5
6 12 12 21 25 39 — — — — 55
D-M9CIV 10 13 13 205 325 445 — — — — 6
16 125 125 21 33 45 51 75 93 105 6.5
6 — 8 17 21 35 — — — — 15
2| p-a90 10 — 9 165 285 405 — — — — 2
5 16 — 85 17 29 41 47 71 89 101 25
E 6 8 8 17 21 35 — — — — 15
&| D-AeOV 10 9 9 16.5 285 405 — — — — 2
16 85 85 17 29 41 47 71 89 101 25
D-H7C/H7C 6 75 16.5 205 345 — — — — 1
D-H7C0W/H7BA 10 — 85 16 28 40 — — — — 1.5
D-H7NF 16 — 8 16.5 285 405 465 705 88.5 100.5 2
D-C70C1/C80 6 —_ 8.5 175 215 35.5 —_ —_ —_ —_ 2
D-C73C 10 — 95 17 29 4 — — — — 25
D-C80C 16 — 9 175 295 M5 475 715 89.5 101.5 3
D-M9C] 10 — 115 19 31 43 — — — — 45
D-M9CIW/M9CIWV
D-MOTIA/MOCIAV | 16 — 11 19.5 315 435 495 735 915 1035 | 5
10 15 15 19 31 43 — — — — 45
D-MoCIV
16 1 1 19.5 315 435 49.5 735 915 1035 | 5
10 — 75 15 27 39 — — — — 05
D-A90]
16 — 7 15.5 275 39.5 455 69.5 87.5 99.5 1
10 75 75 15 27 39 — — — — 05
D-A90IV
16 7 7 15.5 275 39.5 455 69.5 87.5 99.5 1
o
£ | D-F7O/F70V 10 105 105 18 30 42 — — - - 35
2| D-J79/J79C
= D-A7JH/A80H
3| D-A73C/ABOC 16 10 10 185 305 425 485 725 905 1025 | 4
D-F7O0WN79W 10 — 10.5 18 30 42 — — — — 35
D-F7OOWV/F79F
D-F7BA/F7TBAV 16 — 10 185 305 425 485 725 905 1025 | 4
10 — 15.5 23 35 47 — — — — 85
D-F7NT
16 — 15 235 355 475 535 775 955 1075 | 9
10 10 10 17.5 295 415 — — — — 3
D-A7C1/A80
16 95 95 18 30 42 48 72 90 102 35
10 — 75 15 27 39 — — — — 05
D-A79W
16 — 7 155 275 39.5 45.5 69.5 87.5 99.5 1

«: In the actual setting, adjust them after confirming the auto switch performance.

5 (5[2[z/z[EE@EE

QIO |=
DRI 2|
N || = ([N ||



CJ2 Sseries

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/SingIe Acting, Spring_; Extend Type (T)

Auto Switch Proper Mounting Position: Spring Extend Type (T)
- Standard Type (CDJ20O00-0TZ)

- Non-rotating Rod Type (CDJ2KOOO-OTZ)

- Direct Mount Type (CDJ2ROOO-0ITZ)

- Direct Mount, Non-rotating Rod Type (CDJ2RKOOOI-OITZ) {mmi
B dimension
Auto switch model BQre A dimensions
size 5t09st | 10to15st | 161030 st | 31to45st | 461060 st | 61 to 75 st | 76 to 100 st | 101 to 125 st] 126 to 150 st
D-MorI 6 | 55 — 12 21 25 39 — — — —
D-MOCIW/MOCIWV | 10 | 6 — 13 205 325 445 — — — —
D-MOTIA/MSTIAV 16 | 65 — 12.5 21 33 45 51 75 93 105
6 | 55 12 12 21 25 39 — — — —
D-M9CIV 10 |6 13 13 205 32.5 445 — — — —
16 | 65 12.5 12.5 21 33 45 51 75 93 105
6 1.5 — 8 17 21 35 — — — —
2| p-A90 0 | 2 — 9 165 285 405 — — — —
=
3 16 | 25 — 85 17 29 41 47 71 89 101
E 6 | 15 8 8 17 21 35 — — — —
&| D-AoCIV 0 | 2 9 9 16.5 28.5 405 — — — —
16 | 25 85 8.5 17 29 41 47 71 89 101
D-H7CUH7C 6 1 — 75 16.5 205 345 — — — —
D-H7OW/H7BA 10 1.5 — 85 16 28 40 — — — —
D-H7NF 16 | 2 — 8 16.5 285 405 465 705 88.5 100.5
D-C70C1/C80 6 2 — 8.5 175 215 35.5 — — — —
D-C73C 10 25 — 9.5 17 29 41 — — — —
D-C80C 6 | 3 — 9 17.5 295 M5 475 715 89.5 1015
D-M9C] 10 | 45 — 115 19 31 43 — — - -
D-M9CIW/M9CIWV
D-MOLIA/MOCIAV | 16 | 5 — 11 195 315 435 495 735 915 1035
10 | 45 11.5 11.5 19 31 43 — — — —
D-MoCIV
16 | 5 11 11 19.5 315 435 495 735 915 103.5
10 | 05 — 75 15 27 39 — — — —
D-A90]
16 | 1 — 7 15.5 275 39.5 455 69.5 87.5 99.5
10 | 05 75 75 15 27 39 — — — —
D-A9C1V
16 | 1 7 7 15.5 275 39.5 455 69.5 87.5 99.5
o
£| D-F70/F70V 10 | 35 105 105 18 30 42 — — — —
2| D-J79/J79C
€| D-A7CJH/A80H
= | D-A73C/A80C 16 | 4 10 10 18.5 305 425 485 725 905 1025
o
D-F7TOWN79W 10 3.5 — 10.5 18 30 42 — — — —
D-F7OWV/F79F
D-F7BA/F7BAV 16 | 4 — 10 185 305 425 485 725 90.5 1025
10 | 85 — 15.5 23 35 47 — — — —
D-F7NT
16 | 9 — 15 235 355 475 535 775 95.5 107.5
10 |3 10 10 175 295 45 — — — —
D-A7C1/A80
16 | 35 95 9.5 18 30 42 48 72 90 102
10 | 05 — 75 15 27 39 — — — —
D-A79W
16 | 1 — 7 15.5 275 39.5 455 69.5 87.5 99.5

=2 In the actual setting, adjust them after confirming the auto switch performance.

146



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CJ2 Series

[mm]
A itch Number of auto switches
Wi Sv‘.mc Auto switch model § With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - 5
Different surfaces| Same surface Different surfaces Same surface
D-M9C -
D-M9CIW 10 15+ a5 154 35(”2—2> 45 +15 (n—2) cJ1
D-M9CIA #3 (n=2,3,4,5..)
D-A90] (n=2,4,6...)
1 3 0-2) 35+25 2 CJP
D-M9CIV 5 15%1 35 5+3875 +25(n-2)
(n=2,4,6.)% (n=2,3,4,5..) m
D-MICIWV 10 15+ a5 15+ 35(”;—2) 354+ 25 (n-2)
D-M9UIAV (=24,6.)* (n=2,3,4,5..) JCM
n-2
Band mounting | p-agr1V 5 10 a5 10 + 35! 5 ) 35+25(n-2) CM2
(n=2,4,6.)" (n=2,3,4,5.)
D-H70/H7O0W (n=-2) -
D-H7BA 10 15 60 15+4577 00+2250 -2 CM3
D-H7NF (n=2,4,6..)% (n=2,3,4,5..)
D-C70 10 15 50 15+40(";—2) 50 +20 (n—2) CG1
D-C80 (n=2,4,6..)* (n=2,3,4,5..) 63
D-H7C (n—-2) -
D-C73C 10 15 65 15+507 fo_* 227555" : 2
D-C80C (n=2,4,6..)3 n=23,4,5..) JMB
! _ _ 10+10 (n—2)
D-mMoOIV 5 5 (n=4,6.)4 MB
D-A9CIV 5 - 10 - oA
D-M90] 10 (5)" _ 10 _ 15+15 (n—2) MB1
D-A90 (n=4,6..)"
D-M9CIWV 10 B 15 B 15+ 15 (n—2) CA2
D-M9CIAV (n=46.)%
" 5 _ _ 20 +15 (n—2)
D-M9CIW 15 (10) 15 o4 6y ‘CS1
i 5 _ 5 _ 20 +15(n-2)
D-M9CIA 15 (10) 0 (15) (n=4,6..)" cS2
D-F70 5 B 5 . 15+ 15 (N-2)
Rail mounting | D-J79 (n=4,6...)*
D-F700V 5 _ 5 _ 10 +10 (n-2)
D-J79C (n=4,6..)"
D-F70W/J79W 10 _ 15 _ 15+20 (n-2)
D-F7BA/F79F/F7NT (n=4,6...)*
D-F70WV 10 _ 15 _ 10 +15 (n-2)
D-F7BAV (n=4,6...)*
D-A7C1/A80
D-A7CH/AS0H 5 — 10 — ‘(i tiom ’)5)
D-A73C/A80C -
D-A700H B . 15+ 15 (n-2)
D-ABOH 5 10 (n=4,6..)"
. _ _ 10 +15 (n-2)
D-A79W 10 15 (4 6 )
+3: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
+4: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.
#5: The dimension stated in (') shows the minimum mountable stroke when the auto switch does not project from
. X the end face of the cylinder body and the lead wire bending space is not hindered.
#1: Auto switch mounting
With 2 auto switches
Different surfaces™! Same surface*!
Auto switch model .
Auto switch
D-MoCI(V
D-M9CIW(V)
D-M9TIA(V)
The proper auto switch mounting position is 5.5 mm inward | The auto switch is mounted by slightly displacing it in a direction D'D
from the switch holder edge. The above A and B indicate values (cylinder tube circumferential exterior) so that the auto switch
for band mounting in the table of page 144. and lead wire do not interfere with each other. XO

D-M9CJ/M9LIW/M9LIA

Less than 20 stroke*?

Less than 55 stroke*2

D-A90

Less than 50 stroke*?

#2: Minimum stroke for auto switch mounting in types other than those mentioned in *1.

147



CJ2 Sseries

Operating Range

Auto Switch Mounting Brackets/Part No.

[mm
Auto switch model Borelsize Auto ) Bore size [mm]
6 |10 | 16 switch | Auto switch model
D-M9L/MOLIV 6 10 16
o D-MOCIW/MICIWV 2 25| 3 D-MoCI
.% D-M9TIA/MSLIAV D-MOCIV
3 |D-A90 45| 6 7 D-M9CIW BJ6-006 BJ6-010 BJ6-016
_E D-H7O/H7OW 3 4 4 D-M9CIWV (Asetofa,b,d,f) (Asetofa,b,c,d) (Asetofa,b,c,d)
S| D-H7BA/H7NF D-A90
®|p-H7C 5 [8 ]9 D-A90IV
D-C701/C80/C73C/C80C | 6 7 7 D-M9OA *? BJ6-006S BJ6-010S BJ6-016S
D-M9OCI/M9OCIV D-M9LIAV*2 (Asetofa, b, d, g) (Asetofa, b, d,e) (Asetofa,b,d,e)
D-M9CIW/M9IWV — | 3 35 - -
D-MOA/MITIAV Band o oih bracket (Rosi) > /
fing ransparent (Nylon)
E’ D-A9C/A9CIV — 1|6 6.5 moun | Transparent blue (Nylon)*! /
€| D-F70/J79/F70IW/J79W e | White (PBT)
2 D-F70V/F70O0WV/F79F _|s 5 g |Black (PBT)
= |D-J79C/F7BA/F7BAV
& |D-F7NT d
D-A7C1/A80/A7TH/A80H 8 9
D-A73C/A80C
D-A79W — |1 13
#: Values which include hysteresis are for guideline
purposes only, they are not a guarantee 7
(assuming approximately +30% dispersion) and D-H70/H70W
may change substantially depending on the Band | D-H7BA/H7NF BJ2-006 BJ2-010 BJ2-016
ambient environment. mounting| D-C7C1/C80 (A set of band and (A set of band and (A set of band and
9 D-C73C/C80C screw) screw) screw)
BQ2-012 (S) BQ2-012 (S)
(A set of a and b) (A set of a and b)
a
D-M9C] Set screw
D-MoCIV (Accessory)
o | D-MOOIW -4
Rail | D-MOOIWV _ BQ2-012
mounting| D-M9CIA *¢ BQ2:0128™ I P
D-M9LIAV*4 S
D-A90 b
mounting screw
Nut (Cylinder accessory)

148

#1: Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be
used. Please contact SMC regarding other chemicals.

#2: As the indicator LED is projected from the auto switch unit, indicator LED may be damaged if

the switch bracket is fixed on the indicator LED.

=3: When the cylinder is shipped, the auto switch mounting bracket and the auto switch will be

included.

=4: For D-M9UA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Band Mounting Brackets Set Part No.

Set part no. Contents = Eaig 51'25 [mm] -
BU2-000 |\l Swich mouning erow &) BJ2006 | BJ2010 | BL2016
e “ e | e
SO e - -
T e R
BJ5-2 : gmzr; zggl;?t(g'l;ransparent blue/Nylon) (f)*! N . _

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBA4: For D-C7/C8/H7 types
=5 Refer to page 1682 for details on the BBA4.

When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.



Auto Switch Mounting CJ2 Series

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to pages 1575 to 1701 for the detailed specifications.

o
G
p=ry

(x]
C—
o

. . Applicable
Type Mounting Model Electrical entry Features -
. D-H7A1/H7A2/H7B —
Band g - ——— — 060016
D-H7NW/H7PW/H7BW Grommet Diagnostic indication (2-color indicator)
D-F79/F7P/J79 (In-line) —
Sold state " PE——— —
Rail mountin D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 210. 916
g D-F7NV/F7PV/F7BV Grommet - '
D-F7NWV/F7BWV (Perpendicular) Diagnostic indication (2-color indicator)
Band ing [D-CT3/CT6 — 06t0 016
~ | D-C80 Grommet Without indicator light
D-A73H/A76H (In-line) —
Reed - — -
N N D-A80H Without indicator light
Rail mounting 210, 016
D-A73 Grommet -
D-A80 (Perpendicular) Without indicator light

==
@ ||

=2 With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649.
+: Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)) are also available. For details, refer to page 1592-1.

[}
D
-

e e e e e ————————
[
(]
=

[
D
wW

QIO |=
DRI >|wm
N || = ([N || =



CJ2 series

Made to Order: Individual Specifications

Contact SMC for detailed specifications, delivery and prices.

n PTFE Grease
Applicable Series

Description Model Action Note

cu2 Double acting, Single rod

Standard type Single acting (Spring return/extend)

CJ2W | Double acting, Double rod

Non-rotating rod Cu2K Double acting, Single rod
type Single acting (Spring return/extend)

Built-in speed CJ2Z | Double acting, Single rod

controller type CJ2ZW | Double acting, Double rod

Double acting, Single rod
Direct mount type | CJ2R - ing, Sing

Single acting (Spring retum/extend)

i Double acting, Single rod
Direct mount, CJ2RK g g

Non-rotating rod type Single acting (Spring

How to Order
Standard model no. |- X446

PTFE greasel

150

Symbol
-X446

Specifications: Same as standard type
Dimensions: Same as standard type

= When grease is necessary for maintenance, grease pack is available,
please order it separately.
GR-F-005 (Grease: 5 g)

A\ Warning

Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is haz-
ardous to humans.



Made to Order: Individual Specifications CJ2 Series

E Short Pitch Mounting/Single Acting, Spring Return

Mounting pitch is shortened when cylinders are used in parallel.
M Changes rod cover and head cover dimensions to 7.
M Shortens the full length with a head cover integrated with a barb fitting.

A

&

g

‘ 7.5 mm

#: Directly mounted with cylinder
mounting screws

Applicable Series

Application
example

Specifications

Symbol
-X773

[xHIKx]
€= || C=
0 || =

H <)

Cm2
Verification of push CM3
button actuation for
mobile phones etc. CG1
CG3

‘ Description ‘ Model ‘ Action ‘ Note ‘ Bore size [mm] 6 JMB
‘ Standard type ‘ CJ2 ‘ Single acting (Spring return) ‘ ‘ Action Single acting, Spring return
Operating pressure range 0.2t0 0.7 MPa MB
How to Order Port S|ze- i With o4 barb fmmq (Fo'r sof‘t tube)
Connecting port location Head cover/Axial direction MB1
CJ2B6 -[ Stroke | SU4Z - X773 Stroke [mm] S 060
Aut itch N
Short pitch mounting/ uto swite’ one CA2
Single acting, spring return
_ L CS2
Dimensions
—
2 Be sure to use a @4 or 2.5
°§:3 urethane tube (TU0425) or
: a soft nylon tube (TS0425). [mm]
Stroke 5to 15 |16 to 30|31 to 45| 46 to 60
M3 x0.5 Air exhaust port S 305 39.5 435 57.5
& z 63.5 725 76.5 90.5
H Note
U mesi 1. When mounting a cylinder, make sure that the
air exhaust port on the rod cover is not blocked.
2. When mounting a cylinder, apply thread locking
S + Stroke 5 adhesive on the threaded part and hold the
z external diameter of the rod cover with a needle-
+ Stroke . .
nose pliers or regular pliers.



CJ2 series

Symbol
E Double Clevis (With One-touch Connecting Pin) -X2838

With pivot bracket (T-bracket) and one-touch connecting pin
Not necessary to order a bracket for the applicable cylinder separately.

Applicable Series
Applicable Cylinders (Double Clevis Type)
Series Bore size [mm] Type Model Action Note
Standard CJ2D Double acting, Single rod Cannot be mounted on
CJ2D 10.16 CJ2D | Single acting, Single rod (Spring return/extend) cyIinFJers wilh. air !
’ Non-rotating| CJ2KD Double acting, Single rod cushion, or rail mounting
rod type CJ2KD | Single acting, Single rod (Spring return/extend) type auto switches.

How to Order
Example) CDJ2D10-60Z-N-M9BW-B-X2838

One-touch
connecting pin

With one-touch connecting pin

#: The pivot bracket (T-bracket) and one-touch
connecting pin are shipped together. Refer to
page 63-2 for assembly instructions.

Pivot bracket (T-bracket)
Nil None

N Pivot bracket is shipped together with
the product, but not assembled.

-

e

Pivot bracket ) n
(T-bracket) S : e

-

Double clevis type

Specifications: Same as standard type

Dimensions

cJ2n ]2 -[“stroke |Z— (N) — x2838

= Refer to page 63-2 for assembly procedures and mounting methods.

Z+Stroke L

e 5

H]

Pivot bracket (T-bracket)

[mm]

Applicable
b%?e size H L|TH|TV |TW | Z . The pivot bracket (T-bracket)
10 13.4 132 29 | 40 | 22 | 82 is the same as the standard

type. Refer to page 63-1 for
16 18.2195| 35 | 48 | 28 | 85 details.

® 151-1





